Lesson, 3 Finding Limits Graphically
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CALCULUS Limits. Functions defined by a graph

3. Consider the following function defined by its graph:

Find the following limits:
a) lir112_ f(x) b) lim2+ flz) ) “lin_xzf(a:) d) _lin_l4 f(z) e) llin% f(x)

4. Consider the following function defined by its graph:

Y

Find the following limits:
@) lm f(z) ) lm f@) Olmf@ d) lm @) e lmf@)
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CALCULUS

Limits. Functions defined by a graph

5. Consider the following function defined by its graph:

o -2
=0
- . —4
Find the following limits:
o) lm f@) B Im fG) o Jm f@) d) lim f()

6. Consider the following function defined by its graph:

e) lim f(z)
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Find the following limits:
@) lm f(x) ) Im f@) o Jm f@ ) km f@) o ln
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CALCULUS

Limits. Functions defined by a graph

7. Consider the following function defined by its graph:

Find the following limits:

o) Im f@z) b Im f@) o lm f@) d) lm f()

8. Consider the following function defined by its graph:

y

e) lim f(x)
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Find the following limits:
o) Im f(z) B) lm f@) o Im f(z) d)Im fz) e lim f(z)
© 2009 La Citadelle 40f9 www.la-citadelle.com



CALCULUS Limits. Functions defined by a graph
9. Consider the following function defined by its graph:

Y

Find the following limits:
a) im f(z) b)) lm f(z) ¢ limf(z) d) lm f(z) e)lim f(z)

r—4

10. Consider the following function defined by its graph:

Find the following limits:
o) lm f(z) B lm f(z) o lm f@) d) lm fz) e lm f(z)
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CALCULUS

Limits. Functions defined by a graph
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CALCULUS

Limits. Functions defined by a graph

Solutions:

2

a) lm f(z)=2

b) lm f(z)=2

c) m_l}r_nl_ Fla)y = xwljr_nﬂ f(z) . Therefore ml_i‘n_l1 flx)=2

d) z_l}ari_ f(z) # I.Liﬂ+ f(z) . Therefore zlin34f(x) = DNE
e) m]ij;l— f(x) # ‘T'l_igl+ f(z) . Therefore J%i_x_xg}f(:c) = DNE

i Jim f(x) =3

b) lim, f(r) =3

c) Tgxxll_ flz) = ml—i>n11+ f(z) . Therefore }1311 fx)=38

d) x-}»i{ns— flz) # T_l}ﬂm5+ f(z) . Therefore Ilinls f(z) = DNE
e) Il_i)xg_ flz) # xlixéh f(z) . Therefore }1_1315 f(z) = DNE

3.

a) lin;_ flz) =-2

b) limf(z) = -2

c) limz_ fla) = Iimyr f(z) . Therefore lirg2 f(z) = -2
d) lin:i* fx) # lirriﬁ_ f(z) . Therefore Ilin_14f(x) = DNE

e) lﬁ%l_ F(@) = lilgl+ f(x) . Therefore lir% flz) = -2

) lim f(z)=2

b) Tim, () =2

c) Tl_lgl— flx) = 11_11121+ f(z) . Therefore ;1_% flz)y=2

d) T_I»H_I%;— flz)= m_l}rﬁﬁ f(z) . Therefore rllzg4 flz)y=0

e) lim f(z)= lim f(z). Therefore lim f(z) = -1
x—5= z—5+t z—5

5.

a) lj1112_ flz)=-1

b) lim f(z) =1

¢) lim f(z)= lim f(z). Therefore lim f(z)= -1
r—=2" z——2% z~r=2

d) lim5_ flz) # lin%+ f(z) . Therefore lim*5 f(z) = DNE

e) lim f(z) = lim f(z). Therefore lim f(z) =1
z—5~ z—51 z—5

6.

a) lim f(z)=3

b} OB e =

c) z_l}r_nz_ f(z) # xl}g+ f(z) . Therefore z:l—i»n—12 f(z) = DNE
d) .5 f(z) # lim f(z) . Therefore lim_f(z) = DNE

e) lirgl_ flz) = li‘?+ f(z) . Therefore lim f(z) = 2
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CALCULUS

Limits. Functions defined by a graph

7.

a) lim2_ flz)=0

b) Iimyr flzy=0

c) 1im2_ flz) = lim2+ f(z) . Therefore lim_2 flz)y=0

d) lini_ fl@) £ lin}yr f(x) . Therefore lim4 f(z) = DNE

e) lir?_ fla)= lir?+ f(z) . Therefore lim f(z) =3

8.

a) lin;_ Fle)=10

b) lim f(z)=1

c) li1112 _flz) # Iin12 " f(z) . Therefore ,_HTE? f(z) = DNE

d) lings flz) # Im{3 f(z) . Therefore lim3 f(z) = DNE
T——3 T——-37 T

e) lim f(z)= _111151+ f(z) . Therefore lim5 flz)= -1

9.

a) lim f(z) = -1

b) U.ngh f(z) = -1

) lngt flz) = liI;l+ f(z) . Therefore li1112 flz)=-1

d) p 1in}l_ f(z) 7é lirx§1+ f(z) . Therefore Iirg4 f(z) = DNE

e) llir;lﬁ flz)= Iirf+ f(z) . Therefore lini1 flz)=-1

10.

a) limz_ flx)==3

b) lim f(z)=3

c) 1_1}{112_ Flz)= Jc_lfr_n2+ f(z) . Therefore mllf%f(‘c) =3

d) lir113_ flx) # li1113+ f(z) . Therefore 1i1133 f(z) = DNE

€) lirg_ flz)= lirg+ f(z) . Therefore hr% flz)=-3
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